Math 123   Sample Final Exam   

1. One plane flies south from Chicago at 800 kph. A second plane leaves Chicago at the same time and flies northwest at 900 kph. How far apart are the planes after 3 hours? 

 2. Use the trig. form to find the cube roots of  
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 . Represent the roots graphically (you may use degrees).
3. A tree 16 m tall stands at the top of a hill. From a distance of 94 m down the hill, it is observed that the angle formed between the top and the base of the tree is 6º. Find the angle of inclination of the hill.

4. If   
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   ,  find the exact value of  
[image: image4.wmf]2

sin

x

    .

5. Solve for 
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 in radians,  
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6. Graph   
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  by hand. Clearly label at least 3 points and any asymptotes.

7. Rewrite   
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   as an algebraic expression in 
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8. Write 
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 and 
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 in Euler’s form, and find the quotient  
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  . Write the result in both Euler’s form and in standard form:   
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9. Sketch the graph of   
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  by hand. Label the key points and show all your work.
10. Verify the identity:   
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11. Write  
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 in terms of  
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   is in the 3rd quadrant. 

12. Resolve 
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  into 
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